D. 81, #1-21 0dd, #23, #24, #31

#1-20 Swe and gopl. e inequality.
M -3 >% @ -3¢|-%v
Ix >0 -y< -Bv
1 FL\P‘-
- 22_2 V
|
Ct—t— Oy Ve 2
34 5 6
Sl ——>
0 !

M wo
@P 2‘\ %.\{0
..._-_.._>._§-

- 5
-5p -\ > pY4
- ? $0
% cue!
P<-lb
e D———+>

=13 -lb ~IS -ly -I3

b

}

>

IA

@ 1262 -6(a +2)
(2.
4.6

-4,

~ba - 12
-bx
N fLIp!

X

v

-~}

-6

5 4 -3




O 4-9m > 7-3m

+3m +3m

Uem > 7

m> 3

e e S e
Q 3 4

@‘Qd’2<3d + B

-3d od
~5d -2 < %
-5d < 10 FL\pl
d > =g
:-; VI G

@‘55-53—‘{.‘:-34—33

35 -y £ -7 +33
»39 —gg

vat! -—p -y £ -3

All real numbecs ace solutions,

D 6(L+3) < 3(2L+b)

Gl +16 < bd + 1%
-0l -4

1€ < 1% «— False!

No solvtion

4(E-2) > a(t-3)

AL -8>3AL -6
-at -2

False! — -% 7~ -0

No So\u'h'on

ay-4.5 + 6j 2 3(5 - 1.5)

5y -u.5 2 |55~ 4.5
- 15} 16}

45 s -45 &Troe

Al real numbecs are sol utions




Xt+623 l‘: éaq> 3'“
R S
x+6212 ’X*ngm
x26
x 2 -3

When we mulFply 1n MUAh’MS{ we must do (T fo ALL Torms.

—2(1 — x)|= 25 =kE Al werk i< ofrect.
X —2+2x=2x=7 Bot =2 isnet less dhan
—-2< -7 of epval to -7,

All real numbers are solutions.

-9 £ -7 & Talse!

NO Sol v ‘HO/\

BD Complete the inenoality so hat it has no solution.

3 (e l) < =Bx + Ax + (-5)

Thete are Many Possible corcect answeers,



